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Paper / Subject Code: 23113 / Busmess Economlcs A\

[Time: 3 Hours] & & «5;“ [MARKS‘ 100] &
; (l ._-'\\ ‘-:1 . %\;W ; \_\5\’, < :«f»:v
Please check whether you have got the nght questlon paper ¥ < -
N.B: 1. All Questions are Compulsory ¢ ;ﬁ &S S ..
2. Figures to the right indicate full: marks - 154 &
Q.1 A) Select the correct answer and rewrite thjé?s"tatemegﬁf/(Any teﬁjf : BEAN ¢ ()<
1. Social Infrastructure does not include: £ ) :;J";‘ww w
a) Agriculture b) iELﬁ\Ucation;_j“%”” R
c¢) Family Welfare d) Heal care facilities 4
2. The,?Sa:s(tainable Development Goals (SﬁG’s) othé‘r;)vise known asthe
W;” : e : %\y. {_\‘ ‘ ,:Q_L o ) :_-\-s i
a) International Goals e b) Local&Qoals wv
_ W"‘ ©) Global Goals = d) Nanonal Goals &7
..j::?“ 3 PACS refers to ' £’ 7 “‘ﬁ: > ':'“" |
R a) Prunary Agricultural Credit SOCletleS .b) anate Agncultural Credlt Semenes
” s ¢) anary Agricultural Co- op Soc1et1es ~d) Personal Agncul"i'ﬁral Cl’&dlt Societies
& : 3 , o o
3 o 4, The@al or components of a supportwe enablmg envzromnent mc]ude
=;_.}»« a)-Well functioning inclusive markets b) Micro insurance
c) Agncultural finance d)"AgﬁculturaI" revenue
' v, Competltlon Act is not applicable in the followmg cases.
a)- Pubhc Financial Institutes : ) b) Forelgn Instltutlonal Investors (FIIs)

_ (;) Banks - d) Commer01a1 enterprises

6 National Agricultural policy was Launched on

a) ‘August 200 b)<July 2000
) q,), March 2001 : _.a)“ June 2001
VlSltl’g natural areas without dlsturbmg the fragile ecosystem is
5 a) Ecotourism ~*" b) Cultural tourism
- p)ﬁéAgro tourism d) Medical tourism
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8. Moody’s is . _:/N ;A‘;:'_-‘“" £ A
a) Global rating agency & b) National rating agenqyg% el o5
¢) Bank rating agency Igl};lndigengus-'rating agency O &

9. Air pollution is caused by = af-’fﬁ ey > '

a) The release of harmful gasses f;:;‘-'" b)-\_Rréventiojn‘?iff pollptlj_on_.--
¢) The environment protection’ A-_d)"Conh'o_lf'ﬁfve—wastgsf? :
10. Money market deals in the borrowing and l_e_gdihg of s_\h{ju’rt-tenn !Qfgﬁ_lS for a period of £
: aY o 5 o
a) 565 days Zb) 465333/3 e & A
¢) Less than or equal to 365 days d)5years D N .
A 7R S’ RO &7

11. Financial inclusion aims at providing ﬁnqgﬁél services'to 2y . R &

a) only.industrialists b) only investors™ o & B a
¢) poor people d) rich people;” Ny A% a7

12‘,‘;’('}:‘;1pita1 Market is market for it ; LT »« ' o

wra) Short term funds b) Short and fixed funds .- :
S ) Medium and short term funds d) Medium and long term funds

v Qa B) State whether the following statements are True or False. (Any:fen) -(10)
-t \!{f;-'.."NEW Economic Policy was launched on Z_fﬁhﬁuly, 129"'1 4 _vz'_'f‘h -
P +2. The SDGs and Millennium Development Goals (MDGs) are same.
&3, AILEDIs to India come through the Automatic Route,
e, Finance from traditional sources is easy to access. T A
. In India there is an immense need for proper agriculture credit as Indian farmers are very
5 poor. Al
: Agribusiness is the business of agricultural produgtion. -
Competition Act 2003 smoothly replaced the MRTP Act:"
-"MSMEs are labour intensive. i W
9 Tourism encourages the growth of other sectors.
- 10. Call money market is a part of the organized sect(_g“it%f Indian Money Market.
11. FDLis not permitted in insurance sector in Indi?f.t?
1224‘Mutual funds in India have not helped the caﬁitél market to grow.

B

Far?

P LAY

© 0 N ov

Q.. 'Answer any Two of the foIIowin_g: (15)
aoa. Discuss the role of Social infrastructure in education.
> b, Explain any seven Sustainable Development Goals
c. Explain the importance of FDI.
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Q.3.Answer any Two of the following: & -
a. Examine the main features of the Nat1onal Agncultural Pohcﬁy 2000 A
b. Explain the different non- 1nst1tut10na1 sources: -of agncultural finance .of India. ¢

c. Explain the policy initiatives to imiprove agnculrural marketmg mﬁastructure in Indla

Q.4. Answer any Two of the following: > ,ggr« et
a. Enumerate the achievements of d1smvestment pol:cy in India. ;

b. Discuss the measures to control industrial pollutlon in Indla

c. Explain the growth of the service sector gince 1991, - w 3
Q.5. Answer any Twoof the following: =~ o e} { _
a. Explain therecent trends in the Banking Indgstxy il ok
b. Discuss.the structure of Indian Money Market ‘\gi? T4

¢ Explam recent reforms introduced in capltal market “in I.ndla

Q.6. Wl:lt hort notes on any four of the followmg

S leerahzatlon g :% ' ‘* o ;
2. Role of MNC’s. = & 3
3. Role of MSME sector.
4. Measures for development of Tourism in India. _
S Competmon Act 2002. ¥
A ‘“6\w Indlan ‘Capital Market structure. %
] \g\:“ s i »: 3 P }«
‘QM *% mi‘tm*t*ttﬂ;i £ .'\. 3
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Paper/SubJect Code 23114/ Commerce v -
Fequles | ¥
Duration: 3 Hours | Malgks : 100.__
N.B. 1. All questions are compulsory - o A o
2. Figures to the right indicate ,ﬁﬂI marks :-.;::: Nl S &
C§ 23 &
Q.1A) Fill in the blanks with appropnate optmns g:venﬂ)elow (Any Ten) (,10)
1) concept of marlc’etmg adopts product excellence 9. | 1’1’”
a) Production & o b) Selling "~ N X Mg
¢) Marketing Q B < d) Product : ;
2) is related tos systema\tlc gathermg, recordmg and anelyzmg of data aboet problems
relating to marketmg of“goods anﬂ services,: & X, : R ~<w-
a) Marketmg Researcll \- b) Management Research '
) MLS. BN o d) Product Research
3)) A -I._:__"':' market is a; small market segment
a) Mini o X ,_:;:tf- b). Mlcro
c) NIChe <h :_,::W «-.‘:X m) Tmy Fot T . .’ b :
4) Repetmon and recommendanon oﬁproduct results in_ = v
*“" a)Brand Loyalty o ~ b)Brand Equlty
¢) Brand Posmomng e d)Brand Extens:on
8y means creatmg a dlstmct 1mage of : ﬁ product i
") Segmentatlon < I &' b) Promotion
c) Pogltlomng 4 I L d) Penetratlon
»_56‘) 1s*the mtemﬁl factor affectmg Pncmg ,
; a) Consumers : : b) Competition
°c) Economtc conditions = .~ d)Profit expected

7). Under i - G channel;‘the produger sells tlie product to the consumer without involving
~-any middleman. . -~
.- a \D1rect o /b) Indlrect

) Honzo_ntal o ot - d) vertleal

,8)}:‘{/ : ;,'7‘:\ refers to 1ntegrat1ng various methods of; promotmg a product.
' a) Pace ay : > b)IMC
¢) Productivity » d) Publicity
9) .- ol mvolves face to face commumca'uon and demonstration of product.
a) Advertising - 5 : b) Publicity
¢) Personal selling A2 d) Marketing
10) A consumer has a right to be ¢ _
“a) neglected : ' b) heard
c) seen’ o = . d) disregarded
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Paper / Subject Code: 23114 / CommerceV

Duration: 3 Hours _ S Ma'r.it's : 100
N.B. 1. All questions are compulsory - X o g
2. Figures to the right indicate ,full marks % Nl
O - g;i;},.‘% e > ,_i«:;}‘;;
Q.1A) Fill in the blanks with appropriate opﬁons giveni'b‘elow. (A};iy Ten) : \__Lf;ﬂ)
1) concept of marketmg adopts product excellencca : “ >
a) Production s S b) Selling.” > <
¢) Marketing :; % o) = d) Produci =
2) is related to systemaﬁc gathenng, recordmg and analyzmg of data about problems
relating to marketmg of goods and services.: % "
: S X ' =)
a) Marketmg Researqh ; b) Management Research
c) M.L S o o - d) Product Research
3)A ;‘ ) market is ac small mar}}gct segment \ s _ \w“ G
a) Mini & w N b)Micro Pt A
c)-Niche Res oy & d) Tiny - Q
4) Repetmon a,nﬁ recommendatlon of product rcsults in_ x> i
S ) Brand Loyalty O b) Brand Eqmty
< c) B”_;sand Positioning d). Brand Ezetensmn
) "y & o & oy
5) \ means creating a distinctimage of a product..-
“"a) Segmgntatlon &F - <+ b) Promotion
" ¢) P051hon1ng X 73 d) Penetration. -
6) ; 15%8 mtemal factor affectmg Pncmg _
v a) Consumers / - b) Competition
-'.. ') Economlc condltlons o d) Proﬁt expected
7 Under - °" channel ‘the producer sells the product to the consumer without involving
any middleman. . o
: a) Direct o o 3 b) Indirect
¢) Horizontal x el <Y d) vertital'
' 8){ ' O refers to- mtegratmg various methods of promotmg a product.
.a) Pace & . b) IMC
* ¢) Productivity ¢ < d) Publicity
Nz 1nv01ves face to face. communication and demonstration of product.
a) Advertlslng = b) Publicity
¢) Personal sellmg d) Marketing
* 10) A consumer has a right to be ;
.- a) neglected R : b) heard
c) seen’ . d) disregarded
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Paper / Subject Code: 23120 / Computer systéins & Applxcatlons Paper -1

"»: ‘ . ”;'3’” »'
Duration: 2 % Hours | ' : _ Max Marks: 75
Note : All questions are compulsory
Q1 A Attempt any Two sub questions from a),b) & ¢) in MS-Excel

(True or False )
a A group of cell is called a domain
Absolute cell referencing uses two $ signs
¢ A function must have at'least one argument

B Attempt any Two sub questlons from d),e) and f) in My SQL
(Muitiple Choice ).
d The statement used to perform queries on tables begin with
1) Seleet - 2) Search . 3) Q};ery T 4) Selectmn
e The function used to join the word is o
1) Concat() '2) Merge() ~3) Join() 4) Move()
f To indicate that there should be 6 integers and 2 decimal posmon we use-
1) Decimal (6,2) " 2) Decimal (8,2) - 3) Decimal (2,6) 4) Decimal (2,8)
C Attempt any Six sub questions from g),h),i),j),k),[),m),n), and o) in Data
. Communication ,Networking and Intemet

( True or False ) .

Dial up connection requires a modem and a phone call
More than one file can be attached with an email
Protocol is not necessary for data communication
OSlis a network Protocol

Meta search engine creates its database of information
One cable is used in Bus topology

Wireless connection use Radio and infrared signals

A metropolitan area network can connect several LANs
Internet explorer is a web browser ;o
D Attempt any Five sub questions from p),q),r);s).t),1),u),v), and w) in Data

Communication ,Networking and Internet

=} =\E—w'h|- é-;‘m

(Multiple Choice) g
p Ofthe following is not a protocol . ‘
a) TCP b) IP c) FTP . d) OSI
q SMTP means. 2
a) Some mail b) Single Mail €) Simple Mail Transfer d) None of
transport point ~  transfer protocol Protocol these

r In which of the following data is transmitted using lively beam of light
a) Fiber Optic b) Coaxial Cable c¢) Twisted pair cable d) ‘Satellite

Cable
s The way in‘which computer are arranged physically is called
a) Network b) Bridge ¥ ’c) Router d) Topology

t id is' the central device used star topology

a) Roufer b) Bridge c) Hub d) Modem
u In maximum number of cables used

a) Bus b) Star - ¢) Ring d) Mesh
v The large collection of websites available on the internet is

a) URL b) WWW c) Blog d) Email
\id & Allow user to search simultaneously on several search engine

a) Server b) Browser ¢) Meta Search engine  d) Google
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Attempt any one sub questions from a) & b) in Data Coemmunication ,Networking and
Internet Ao :
Explain the different uses of Internet.

Define Topology. Explain Bus topology.

Attempt any one sub questions from ¢) & d) in Data Communication ;Networking and
Internet

Explain Blog and Search Engine. _

What is hacking and explain any three types of hackers.

Answer any one sub question from a) and b) in My SQL ;

Write  MySQL . statement to create a  Table  name: UNIT_SALES
Salesman Id(SID, Integer Primary Key , Not Null ), Product name(PName Variable
length of character 30), no. of units to be supplied(Qty. units Integer),date of supply
(DOS, Date), store no (S_No integer). _

Write MySQL statement to create a table called CLASS contains

Coluwuns in the table: Admission number (ADM_NO , Integer, Primary key),first name

(FNAME, char::}_g_t'ér(IS), Last name (LNAME, character(15)), Date of birth(DOB,détc),
marks in HSC(HSC_MARK Inte ger), gender (GEN ,Boolean),

Answer any oiie sub question from ¢) and d) in My SQL

There exists a table called Emp containing the columns EMP Number ENO, integer,

Primary Key), Name (NAME, character variable width 20), Date of birth (DOB, Date),

Gender (GENDER, character width 1) and Department (Dept, character variable width

4).

Write MySQL statements for the following,

1) Display the structure of the table.

ii) Display all the information from the table. v ;

iii) Add a new column Salary( Sal , decimal(7,2) at the end of the tab]e

iv) Delete the row where Emp number of the emp is 1001,

v) Change the Department of emp with Empno 1004 to Admin

vi) Rename the table Emp to Empoyee

“Explain the following inbuilt function in My SQL >

1) NOW() 2TIME)  3)CURDATE() 4) DAYNAME()

5)ROUNDO  6)SQRT  7) ABS() v

Answer any one sub question from a) and b) in My SQL

There exist a table TAX containing columns Pan Number (PAN, Integer), ‘name

- (NAME, variable character), City (CITY character), Taxable Income(INC,Integer)

and Income Tax(ITAX, Integer)

.- Write MySQL queries for the following

i) Display Pan Number, Name and Income Tax
1i) Display Pan Number , Name and Income Tax where taxable Income is more than

- the Average Taxable

Q2 A
a
b
B
¢
d
Q3 A
a
b
.B
¢
d
Q4 A 2
38247

iii) Display City, maximum and minimum Taxable income group by city
iv) .Display Pan Number » Name and taxable Income where income tax is equal to the
highest Income Tax Rac)

V) Displg_-y all the rows where name contains ‘B’

- A,
oS P
Oy
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Paper / Subject Code: 23120 / Computer systems & Appllcatlons Paper -I

«««««

destlnatron name (DEbT cuar?f‘ter) Stopover name- (STOP character) and amount
of the tlcket(AMT JInteger) : : :
Write MySQL queries for the followmg ) :
i) Display flight number, destination name and amount collected for the stopover
Dubai. :
i) Display flight number, destination name and stop over name where amount
collected is above average amount collected. \ ;
iti) Display all the rows from the table in ascendmg order of stop over and descending
order of amount collected £5 /
iv) Display flight number and destination. name group accordlng to stop over names
B Answer any one sub- questlon from c) and d) in My SQL & =
¢ There exist a table STAFE W1th columns Employee ID (E - ID 1nteger) employer

name (ENAME character) department ID (DID, 1nteger) manager id (MGID

integer), salary (SAL, numerlc) and hiring date (HDATE, date)

Write MySQL queries for the followmg

i) Dlsplay all the rows from this table .

i1) D1splay the name and hmng date-of all the, erlployees WhO do not have manager

111) D1splay employer name as employee name (EMPNAME) from the table - :

_-iv) Dlsplay employee ID, department ID and salary of the employees whose manager
> ID is 102'0r 105 _

is greater than 15000 4 \ 3 5 :
d There exist. a table exanunatron contammg columns exam seat number (ESNO
integer), name of the SdeHL(SNAm variable character), gender (GEN character),
" marks (MKS, numeric) and grade (GRADE, character) : '
Write MySQL queries for the following ‘
1) Dlsplav all the rows where the gradeis B.
ii) Display seat number, name and marks of students ‘whose marks are equal to to
~lowest marks : :
ii) Dlsplav seat number marks and grade of students whose marks are above average
marks x )
1v) D1splay gender m1n1mum marks and max1mum marks of students grouped by
: grades k.
Q5 A Answer any one sub questlon frorn a) and b) in MS- EXCEL
: a The followwg data h been ent red in a worksheet

Name % Age.: City Sales
& Anita 41 Mumbai . 320000
Anish 24 Delhi 200000
e Rita 35 Surat 205000
Rushabh | 42 Chennai 302000
- Alex 50 Mumbai 540000
Eliza 44 Pune 326000
Mahesh 27 Mumbai 501000
: Neeta 32 Nashik 520000
38247 Page 3 of 4
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Write the steps to.-
1) Sort the data in the ascending order of Name

* 2) Calculate subtotal of sales for each city.
b The following spread sheet contains the amounts invested, the rate of interest and the
period of investment in years. Write the steps to obtain the simple and compound

interest in columns C and D.

" o -Nam_é . Amouht S.I
L2 [ Ravish | 500000 ;
| Dev 250000
Aabha : .1'900(1}0
Annie 560000
|6 | Number of years (n) 10
7 | Rate of Interest (r%) 8
: Given that, Simple Interest (S.1) =(p*n*r)/100
‘Compound Interest (C.I) = p*(1+1/100)"- p
B Answer any cne sub question from c) and d) in MS- EXCEL 7
¢ Answer the following using spreadsheet giving the runs scored by batsman in 5
matches. -
| NAME, Matchl | Mate2 | Match3 Match4 | MatchS | TOTAL AVG
|2 | Sachin : 76 78 |98 54 115
3 | Ganguly | 45 56 54 45 12
4 [ Kapil 36 85 56 89 65
| Dravid 9 | 45 | sa 25 78
6 | Kumble 45 o] 12 14 58 .
HIGHEST
SCORE
LOWEST
SCORE |
Write the steps to
~ Calculate

1) Total and Average score in column G and H,
2) Match-wiﬁsﬁﬁalculatc the Highest and the lowest score in row 8§ and 9.
d  Explain the fol.looiving built in functions in MS-EXCEL
L IPMT() - 2.ROUNDDOWN () 3. SQRT() 4.COUNT()
5.FLOOR() 6:PV() 7. MOD( )

38247 ' Page 4 of 4
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Paper / Subject Code: 23107 / Financial Aceountmg and Andltmg VIII - C3‘st Accountmg Lf”

'Fefulcw ‘\fﬁ W ja’/{ 0/2025

o p : :
Time:3 Hrs ) a3 < > Marks 100
T )a”;;\\ i = -- . g T *X %
® . o Ny 7 =y

All Questions are ‘compulsory, -

~ G

e Figures to the right indicate ffﬁll marks allotted to Elle questlons ; __"-'".“4‘ A
* Working Notes wherever necessary ﬁhould form a part ofgmnr ansWer. a9 »{“
e Calculate figures up to the two dec;mal pomts whcrever requlreda © R
Q1 a) Select the most approprlate optm‘n and rew\nte the full sentence (Any Teﬁ) %
oS \' (IOMarks)
1. In production_;ofﬁmiture_'.w“ood isa" m'atenal. : O &
a.Direct - b. Indireet c..Semi vanable d Hazardous & &
2. In fashlon 1ndustry fabric thread and buttons are matenal formakmg clothmg
a. ]_'.__)g_rect b, Induect A Senn 'vanable ; -\’ d. Hazardous .
3. The ;}f cost of* usmg a company vehlcle fora personal tnp is the revenue the
company could have earned by renting it out \\éf‘ N _’{\‘“"‘ _
2 a. Suﬁk Cost .~ b, R'e‘levant Cost C. Irrelevant Cost d Opportumty Cost
D 4, The “level i 18 the ideal quannty to order to mmlmlze both ordermg and holding
. \costs ) : (N
: \} a, EOQ br@‘aximum = c“ﬁlnimum ¥ 'd-"Danger g
< 5. In ABC analysis, items typncally represent items with moderate or

&

_v:\mtermedlate value and si gmﬁcance compared to A 1tems but J:nore than C items.

a. CategoryA b.Category B c.Category C - d.Category D
6. : assumes that the oldest ’“m“'Ventory s sold first and that the newest
mventory is. leﬂ in stock 7
-a. FIFO. b.LIFO c. Welghted Average Method. d.FIFA
., In_ - - employees are compensated based on the quantity or number of units
they ‘produce or tasks they complete _,;;i‘
a P;_e_ce work plan  b. Halsey Premlum Plan  c.Rowan System d. Gantt’s Task
A 8 The _;:-_f S i &1_s a labouripayment plan that considers both quantity or outpnt
and time efficiency.
a. Piece work plan  b. Halsey Premium Plan . Rowan System  d.Gantt’s Task
9. .Royalty paid is a part of . o -
35816 o : Page 1 of'14

CS97EAT9F92B1413977A37A4857596C8

s,



L,

Paper / Subject Code: 23107 / Financial Accounting and Auditjrjf'g Vi =| Cdst Accogﬁﬁng w

a. Prime Cost b. Factory Cost c. Administrative cost d. Selhng Cos:g’-ﬁ-

10. Store keepers salary is a part of o _ " " < AN a3
a. Prime Cost b. Factory Cost L. Admrrustranve cost d. sSelImg Cest

11. Net profit as per cost records sts 150000 interest on. Investmgﬁt not recoraed in cost»books 3
is Rs. 3000. Calculate proﬁf*as per ﬁnanclal records '“ 2 {jf;*
a. Rs. 15000 b.Rs. 3000 - CiRs. 18000 . Rs. 12000

s

")

12. Net profit as per cost records is Rs 15000 Bad debts deblted in f nahmal records is Rs 3000

Calculate profit as per financial records

a.Rs.15000 - b, Rs. 3000 . ¢./R8. 18000+ d:Rs.12000- o
Q1 (b) Match thé‘:.»Columnsx'(Any 10). ~ - (10 Marks)
Group A . : : Group B g :
1) Bank Charges ' : a) <Belling O\ferheads R > e
2)Coding System 5 b)" Individual bonus plan oy S
3)" Ordering Cost i “¢) Administrative cost '
4) Economic Order. Quantlty - d) Service cost cenire =y Y
7 5) IdleTime N e) Facilitates entry collation j
6) Rowan Premium Plan. - i ) +Excluded in"cost book "
7). Over Absorbed Overheads g)- Chargeable expenses’ K
8) Quality Control ' 'h) Absorbed overheads less Actual overheads
9) Prime Cost 1) Goods inspection expenses
~ 10) Loese tools written off j) Power failure R
11) Upkeep of delivery Vans k) . Size of purchase order
12) Loss by Fire 1) Factory Overheads:

2A

M/s. Ashish Manufacturlng Company manufactures two types- of products viz. M and N. The
; 1nformat10n for the year ended on 31 March, 2022 is as under: -

| Particulars Products
- M (Rs.) N (Rs.)
Direct Material per unit - -300 360
Direct labour per unit -~ 180 150
_Direct expenses per unit 120 240

Additional Info'rmation°

) 1. Factory expenses are charged at 20% of prime cost.
2. Office expenses are charged at 25% of works cost

3. 6,000 units of product M were produced of which 4,500 units were sold and 15 ,000 units of
product N were produced of which 13 ,500 units were sold.

35816 Page 2 of 14
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Paper / Subject Code: 23107 / Financial Accounting and Auditing VIII -@ost Acco{ui’iting <F

4. Selling expenses are Rs.45 per unit for. product M: and Rs.60 per umt for: product N
5. Company charges a profit at 20% on, Sales for both the products A
Prepare a cost sheet showing the co,st and proﬁt in total as “well as m per unit. -~ -
. & = _ S _ .__‘jj» (20 Marks)

i.o//_

2B (i) e ha) . %
From the following information value closmg stock as. on 30 9-2023 applylng Welghted Average-
Method. 2 oo xe 7 A
; A Rafe Per = > "
Umts _I{fillt (Rs} kg 2%
Opening Stock > ' _
01/09/2023 7,875 10,00 K- S
B » AY N B :
Purchases .~ AY f ol ~ Y
17/09/202%,&%\ I iy P : Y 4’83\0‘%\; 8;40 ,\\‘t?.% »\\wjv
o L e & e o
22/09/&@23 i oo 5520 7900 |
Sales o g _ &
/092053 3255 | 1320
18/092023 2415 | = 1260
L 3,045 10:80
1 30/09/ 2»923 4935 | 1140
" (10 Marks)
2B(11) ¢ A~
CaIculate the: machme hour rate to cover the OVerhead expenses related to a machine.
Sr No. Particulars.
1 “Cost of the machlne : Rs 950000
2 Installation charges of the new machme Rs 75000
3 Estimated scrap value of the machme Rs 25000
4 Oil‘and Lubrication Rs 7500 per quarter
_’: 5 Consumable Stores : Rs 1000 per month
6 -Consumption of electric power per hour 20 units
7 Rate of electric power per unit Rs 0.50
8 Foreman’s salary per month Rs 6000
| (1/6™ for this machine)
9 Cotton waste etc. Each Machine (Per Quarter) Rs 5000

It is estimated that the 11fe of the machine is 10 years and w111 work for 10000 hours per

annum

35816
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Paper / Subject Code: 23107 / Financial Accounting and Auditing VIII - Cost Acco_uii“ting

3A

T

i) The Purchase Department of your orgag@a’fion has received an offer of qﬁéintity disgﬁounts on.ifs

order of materials as under: [ 10 Marks]

Price per tonne Orderit:(ii] tonneé[

Rs.2,800 ~ Lesstan1,000 - ; =
Rs.2,760 1000 but less than 2,000 7 Ko
Rs.2,720 2,000 butTess than 4,000 '
Rs.2,680 _ © 4000 but less than 6,000

Rs.2,640 S 7 6000andabove - &

The annual requi;e:_ﬁent of the.'inaterial_i's' 10,000 _Fpnnes. The déliverY. _QOSt/Ordeﬁ\gg cost per _:Order

is Rs.1,800 and jhe annual stock hoI_diiig cost/carrying cost is estima_tc‘d"'at 20 percent of thgﬁa;erage ‘

fiin

inventory. 'lfpié'purchag?aepartmqnf wants youto consider the following purchase options.and advige_?'”

which among them*will be ‘the most. economical” ordering “quantity, “presenting the relevant
Y i A W 7 _. e

infom@ﬁon in a tabular form, The purchase quantity options to be con_si_ﬁered are 800 tonnes, 1,000
tonnes, 2,000 tonnes, 4,000 tonnes and 6,000 tonnes. \ i

1i) Inventory records.of Shrinidhi Ltd. Shows the following information: - (10'marks)
Details __Material R (Rs.) Material S (Rs.)
Material in hand on 1.4.2022 100,000 - 2,00,000
Material in hand on 31.3.2023 - 50,000 - 75,000
<[ Material. purchased durin g the year 4,50,000 5,75,000
. Calculate; " ' '

I Material turnover ratio regarding each of these mg;eﬁals
- 2. Express in number of days the average inventory held
3. State which ofithe two materials is slow moving material

OR
3B

The following data was obtained from the books of Space Ltd. for the year ended

31* March 2023.

rSr; ' o Departments
No. g Taggoulars A B C D E
1 Direct Materials (Rs.) 90000 | 125000 | 75000 25000 35000
2 | Direct Wages (Rs.) : 70000 90000 | 50000 | 25000 15000
3 | Floor Space Area (Square Feets) 1000 1500 750 650 600
4 " | Value of Plant and Machinery 450000 [ 850000 | 350000 200000 | 150000
(Rs.) ’
5 Number of Employees 9 11 6 5 4
135816 Page 4 of 14
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Paper / Subject Code: 23107 / Financial Accounting and Auditing VIII - Ca“st Accogh"ilng

6 | Value of Stock (Rs.) < 12000 | - 15000 |~"13000 | -
7 Kilowatt-hour (kWh) 3 12| 165} 7} AN - _/
8 Number of Light Points < 16 20 _ 12 f’? = | \@.5'
Departments A, B and C are Product1on Departments “‘ = &
A o it
Departments D and E are Service Departments 5 * % -
Sr. ’ Par!lplculars o £ u é{;{iount '3
No. Ry S Nl 2 s | Z(Rs.) Sp
1 Lighting o AN W{_ '- e ‘ ' 13500
2 Contribution to.Provident Fund _ -.-* R & s 16250 KAy
3 | Labour Welfare Expenges el S| 18900 ¥
4 Insurance-of Plant and’ Machmery 15000  |~°
5 Deprecranon of Building - : Sy B 056250 4]

M:\..
b

You are requlred to prepare Prrmary Overhead Dlstrlbuuon Summary for the: departmerits“ showin g
clearly the most su1table basis of apportlonments whei‘wer necessary &

w

S5 @oMarks)

4AG) \‘ '

RS Ltd. showed net loss of Rs 2,30, 500 as per their ﬁnanmal accounts for the year ended 31st
' '-March 2022 However cost accounts dlsclosed net loss of Rsﬂ 45 000 f0r the same; penod On
scrut1n1s1ng both the set of books of acanunts the. followmg rnformatlon were revealed

Pa rtlculars N ; Rs
Factory overheads over recovered o A P e 30,000
- Distribution overheads under récovered 1 o Y 20,000
" | Administrative overheads under recovered : ¥ 27,500
Depreciation over charged'in Cost Accounts .~ : 34,000
Bad debts w/off in Financial Accounts : ] 14,500
Preliminary expenses w/off in Financial Accounts : 4,500
| Interest credited during the year in Finaneial Accounts : 7,000
Notional Salary charged in Cost Accounts - 10,000

Prepare a reconciliation statement reconcﬂmg losses shown: by the financial and cost accounts by
taking costing net loss as base.

" (10 Marks)

4A (i)

35816 - o Page 5 of 14 .-
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Paper / Subject Code: 23107 / Financial Accounting afid Auditing VIII - €dst Acc oufiting
S f:\ ) o

o

s ' T

Calculate the earnings of A and B from the followrng partioﬁlars for a month and allocate ;t'h'e
labour cost to each job X, Y and Z: & 4 A .

Particulars ' S s AV B

Basic Wages & ~~ | Rs:400 | Rs.520

Dearness Allowance . o 2 50% =50%
Contribution to Provident Fund(on' basw wages) 8% 8% |-
Contribution to Employees State lnsurancc“(on basic |- 2% ‘_-\,"i: 2% |
wages) i &5 < 2% Ed
Overtime AN «?»!'Tf o Hours 10 S 4

The normal working hours: f”or the month are 400: Overtime'is ‘paid at double the total of basnc wages

and dearness allowance, Employer s'and Employee’s cor],tnbutlon to’ ‘State Insurance angd' Prov1dent:j?5f 3

Fund are at equal rates ‘The two workers were emponed on }ObS X, Y and Z in the followmg"
proportions: ' ' e

pr-"s'

| Workers A 7 540%  |.030%  [730% 4+ A
| Workers B - - 0 25% | 35% | 40%.
Ovemme was done on job Z at the request of the customer. .- : " B
: : - ey A (l_w‘(}{jMarks)
: = B P 5 OR A ; ;
4B

_.f“_; Standard _output per hour 250, umts Actual output ina 180 hour week is : 50 ,000 umts Wage rate is
< Rs. 30Q per hour. Deamess allowance i isRs. 30 per. hour, Ca]culate Total Eamlngs under

o AN Time Rate A . .
© il . 'Piece Rate o A2
iii. " Halsey PremiumSystem s
iv.  Rowan Premium System ¥ i
K V. Gantt Task Bonus System & X (20 marks)
Qs ' d
A, State the Functions of cost accountmg‘? S (10 Marks)
B. What are the factors consrdered in fixation of stock level? (10 Marks)
\ OR
Q5 Write Short Notes (Any Four out of Six) : (20 Marks)
1.EOQ.
2. Gantt’s Task. * A
3. Idle Time

4. Factory Overheads,

5.Causes of dlsagreement between costing profit and financial profit, |
6. leltatlons of cost aceountmg

_*************************
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Paper / Subject Code: 23115 / Direct and Indirect Taxation Papei‘ I & oS

—AB (o, Sern -\ | | =l)=2e2
- Q <:E| u (CE/Y By - 43 - :Z
Time: 3 Hours B . A v \;»5\ - Total‘i"'larks 10?) 5
A -_Q:: - G A
1. All Questions are compulsory. e ' g o
2. Exercise internal options whereyer given. o 0 2 N
3. Figures to the right represent gl]l marks mfhe questlon o)
4. All questions should be anstyered Ww.r.t assessment. year 2023- 24
5. All' workings shall form pai’t of the mam answer.. 2 (
6. Use of simple calculator is allowed. - X G

Q.1A .Choose the Most Appropnateﬁrltematwe and rewrltethe Staternents (Any Ten) (10) 5

1. Income earned and recexved in India is taxable in the’ hands of o)
(a) Resident and Ordmary Res1dent only . (b) Remdent but not Ordmary ReSIdent only
(c) Non- Re51dent only o (d) All ‘three Re51dent1al categones of persons.

2. Voluntary Retu'ement Cornpensatlon recewed by an employee is exempt upto Rs
~\ /\;\x

e A & 03 o
(a) 20,00, 000 (b) 10 oo,aoo (c) 5,00, 000 (d) 3, 50 000, &

{\

3. Lun‘fpsum payme"nt recelved on retrrement from Statutory Provndent Fund is _o0
(a) Exempt £ N (]3) Exempt.t up to 12% of Basic Salary. =
(c) Exempt up 09 5% mterest rate. (d) Exerglpt up to 50% of amount recelved

_.:'.4 Pre-constructmn perlod mterest on housmg loan i 1@ allowed as deductiou in 1ﬁ§falments,

upon completl on of" ‘construction. . _ o
(a) One (b) Thrce (©) Fwe (d) Seven. _ '

3¢ % 1smot a deduction under tﬁe head of salary.
(a) Standard deduction. ~ (b) Entertainment allowance.
¢} (c) Tax on%mployrﬁent «3\'. (d) Intercst on loan

6. Whlle computmg the exemptlon of Gratulty for a person covered under the Payment of
Gratu1ty Act, Salary refers to L \§
(@) Basic plus Dearness Allowance (b) Net taxable Salary

(c GI’GSﬁ%:umry e (d) tsasrc pius L)eamess Allowance plus % of commission on turnover.

7. Incase of unllsted shares Short Term Capltal Gam anses 1f the period of holding of shares is

(a) Not more than 36 months ._.:(b) Not mo’r‘e than 12 months
(c) Not more than 24 months -  (d) Not-more than 10 months
8 Deductlons under chapter VI A cannot exceed
(a) Rs.1,50,000 v O (b) Gross Total Income
(c) Net Taxabfe Income- (d) Rs. 2,50,000.
9. Indexation of cost w1ll be allowed, only while computing
(a) Short term capital gain, (b) Long term capital gain
(¢) Medium t_errn capital gain (d) Both short term and long-term capital gain
36362 . . Pagelof13

C79B8DC4688CF879CI9EDS1ES5 | 4A78027

>

S



: B -
| : P .

- .

Paper / Subject _éode: 23115/ Direct and Inlrect Taxatlon Papﬁ’& -1

10. From the following, ----------- is a capital asset as defined u/s 2(14) of the In¢ome TaxjAct,
1961. AN ] At i ¢
(a) Urban Agricultural land (b) Personal Scooter (¢) Personal Utensils (d) Personal Car

11. If any asset is used for less than ------ daysmthe year,q'fécquisit‘j(jﬁ‘: the de\P’vrjééiation;péit'é
will be 50% of the normal rate as per Income Tax Act 1961 y o4

(a) 180 (b) 90 (c) 365 @ 45

12. The value of rent free accommodation provided by the employer is a —-----= perquisite.
~ (a) Taxable -(b) Taxable only in c_a'sé of specified employees

(c) Not Taxable = (d) 50% is Taxable

Q.1.B. State whether the following statements are True or False (any ten) (10).
I. Shiv Shakti Mitra Mandal is assessable under the Income tax asiAssociation of Persons:
2. Standard Deduction u/s 16(1).under the head salarycannot exceed Rs.50,000.
3. Leave Encashment is exempted upto a maximum of Rs.3,00,000. 3 o

4. Inconte earned.and received outside India is not taxable tqi-fResidcnt and Ordinary Resident.

5. Income from smuggling is not taxable under the Income Tax Act, as it is illegal:

6. Depreciation is allowed only when it is claimed. ' . )

7. Capital gain on transfer of depreciable business assets is always short-term capital gain.

.-8. Income by way of interest received on compensation or on enhanced compensation on
compulsory acquisition of capital asset is chargeable under the head Income from Sources.

9 .There are total five heads of Income. 3

10. Donation to a political party is an allowable business expenditure:

1L. Repairs of a worn out part of machinery used in factory is an admissible expense under

Income Tax Act ;1961. 3 : '

12, Status of Indian citizen is always a resident.

Q2A Dr Sanjay Ghokshe works as Associate Professor, Dr Y. Y. Patil Institute of Hotel
Management.” He has provided the following particulars of his income for the previous year
ended 31st-March 2023; you are required to compute his total income for Assessment Year 2023-

24. ; (10)
Amount
Sr. No. ; Particulars (Rs)
1 Monthly Basic Pay 1,35,500
2 | Dearness allowances 42% of Basic Pay
3 .| Professional tax 2,500
- Other information : 1
4 He received income from crossword puzzle 59,000
He has written book on 'Cafeteria Management' and received
5 royalty from publisher 67,000
6 He contributed to Pension fund ' 1,40,000
He paid medical insurance premium of Rs 20,000 by cheque for
7 himself. ' ‘
36362 Page 2 of 13
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Paper / Subject Code: 23115 / Direct and Ingllrect Taxa‘tlon Paper I

r:-

Q.2.B From the following information pr0v1ded by Mr Ashvaghosha for the prev1ous year. ended
on 31st March 2023, you are required to compute the net taxable i income for the Assessment year

2023-24. 2

Particulars ¥ _._'Hbuse at I’:;irel Rs. | " House 4t Panvel Rs %
Status E L_é't—but i : SeIf-occupled
Fair Rent (per month) e 60,000 .:_{il‘ 55,000
Rent Received (p.a) . 8,00,000 | ~* P Ni;j_---v
Municipal Taxes Paid’ |ES 32,000 | 25:000
Interest on loan taken b A 3 o A
borrowed on 1 April 2022 for s L ¢ >
house construction A o Nil s &7 2,25,0004
Maintenan_céféharges ;L & 55,000 ey ,\‘fz T 75,000
Other Inféfmatlon A N W
Interest'on fixed deposnt with company ] ““Rs 32,000
He 1nvested Rs. 60 000 in Naﬁonal Savmg Certlﬁcates 4(; ) f-"}' :
He pald Interest Rs.32, 000 on Education loan taken from Bank of India for his son,
‘who is pursing post—graduatmn n&Data sciences from Gokhale Educatlon Soc1rtya\

-{ Nasik Instltute (r ggmzcd)

"OR

(10)

: %Xi\;{(

Q2C Mr Ghanshyam is employed with M/s ABC Ltd as HR manager. He has prowded you with
the following income detalls for the previousyear 2022-23. You are asked to compute his net

“taxable income for the assessment year 2023 24.
1. Basic Salary & - ~Rs 80,000 per month-- >
5 ;’,ADeamess Allowance ~ Rs 25,000 per moﬁfh ;
3. House Rent Allowance ; o Rs 50,000 per mﬁﬁth s
(Exempt Rs 20,000 per month) 2 '
4. Perquisite value of Laptop > Rs 2,10,000 p a.
5. Fixed Medical Allowance § -Rs 25,000p.a SN
6. -Entertainment Allowance 2 " Rs 6000 per month.
7." Mediclaim Insurance premium paid & Rs 15, 000
~8. He mvested Rs. 2 ,00,000 in:Public Prowdent Fund:
He is also the owner of two house propemes
Part:culars ; House prqgeny 1 House property 2
(Self-Occupied) (Let out)
Muiicipal Valtation Rs 10,00,000 p.a. -~ | Rs6,00,000 p.a.
“Fair Rent | Rs 8,00,000 pa. Rs 8,00,000 p.a,
Actua!;:ﬁént Recei 4 - : < { Rs 85,000 per month
Muticipal Taxes Paid Rs 90,000 Rs 60,000 (paid by the
N ” " ' tenant)
Interest o Home loan | Rs 2,50,000 - Rs 2,00,000
Water Bill - Rs 10,000'p.a. Rs 5,000 p.a
Premises Majntenance Rs 1200 i).er month - | Rs 800 pér month
36362 . Page 3 of 13 .
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Q.3 A. Following is the Profit & Loss Account of

“M/s Fashionable Art” owncd:b}' Mrs, Ur'v'ashi

Pandit, for the year ended 31% March, 2023. £ b e (20).
Profit & Loss Account For the Year Ended 31* March, 2023 a

Particulars Rs. Particulars ~R. 4

To Salaries 3,60,000 | By Gross Profit 10,42,800.

To Telephone Expenses 12,650 | By Saving Bank Interest 13,900

To Office Expenses 42,000 _| By Interest on Time Deposit 40,000 |

To Profession Tax 2,500-| By Dividend from'Indian Co:~ 10,000

To Staff Incentives 48,800 N . i3

To Printing & Stationery . 4,500 | N

To Depreciation < 12,000

To Laptop Purchased 158,000 |

To Advertisement o 5 52,000~ b

To Interest on Personal Loan | 22,000 P

To Custom Duty Paid 45,000 "t

To Net Profit i 4,47,250 * 5 o

Total 11,06,700 | Total - 11,06,700

Additional Information:

1) Deprecation as per Income Tax Rules is Rs. 1 0,000.

2) Advertisement includes Rs.15,000 for ady.

3) She paid Rs.25,000 towards Pension Fund
4) She invested Rs.80,000'in ULIP Plan. % _ 3 ¢
5)Salary include Rs.60,000 (Rs.5,000 per monith) paid to her Son Mr. Umesh Pandit who is
B. Com Graduate and write the accounts for her business. _ 5 F

- Compute the Net Taxable Inconie of Mrs. Urvashi Pandit’s for the assessment year 2023-24.

ertisement in souvenir of a Political Party.
of LIC.

; 2N =~ OR o

Q3 B. Following is the Profit & Loss Account of “M/s Quality House” owned by Mr. Divakar
Raorane, for the year ended 31% March, 2023, il 7 (20)

: ___Profit & Loss Account For the Year Ended 31% March,2023
Particulars " Rs. Particulars 3 ) Rs.
To Salaries ; 3,10,000 | By Gross Profit 9,64,800
To Electricity Expenses 9,500 | By Rent Received from Let-
To Municipal Tax 10,000 | out House Property - 2,87,000
To"Professigﬁ Tax 2,500 | By Unrealized Rent
To Income Tax % 12,400 | Recovered for F.Y, 2021-22 10,200
‘To Conveyance Expenses 45,200 '
To Depreciation 10,500
To Repairs & Maintains 25,500
To Professional Fees Paid 12,000
To Interest.on Housing Loan 50,000
To Furniture Purchase 82,000
To Net Profit 6,92,400
Total 12;62,000 | Total 12,62,000

Additional Information:

1) Municipal valuation of House Property is Rs.2,89,000.

2) Repairs & Maintains include R
3) He invested Rs.60,000 in Equity
4) He paid Medical Insurance prem
Compute the Net Taxable Income o

36362

Ut

3,000 for repairs for house property.
Linked Saving Scheme (ELSS) for himself.

ium of Rs.12,000/- by cheque for himself and spouse.
fMr. Divakar Raorane for the assessment year 2023-24.
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Paper / Subject Code: 23115 / Direct and l_l_l';'luirect Taxation Paxpei" . |

4

Q.4 A. Mr. Siddheshwar purchascd a resrdcntlal Property for Rs 8 25,000 on 14xh March,

1998. )
Additional information related to pri)perty was as follows £
1. Fair market value as on 1* April, 2001 Wwas Rs. 9, '?5 000 3 :-\: £
2. Cost of construction of 1't floor mthe fmano:,al year 2007:08 Rs. 3, 50, 000 __-..-:-‘": N0
3. Cost of construction of 2™ floor in’ ‘the finangial year 20f4 15Rs. 5, 00 000 WO S iy
4. He sold the above property on 12- 01—2023ffor Rs. 90 (ID 000 and pa?d brokergge of
Rs. 1,40,000.
5. He purchased new resrdentlal property for Rs. 25; f)() 000 on 02 02- 2023, L Q;-'-
6. He also invested Rs.4,00,000 in ehgfble bonds lssiled by Nahonal ngh’Way Autho@ of Indla ' i

(NHAT) On 03-03 2023“
Compute his Capital-Gain for the Assessment Year 2023- 24 s

Relevant Cost Inflation Indlees are asfollows

Financial Year & Cost Inflatlpn Index \MI l“’" s
2001:{:]32_ & “ 1 00 & o ) :
2007_0 8 o - ol 1 29 o
2014-15 : 240 :

202223 - O . S

Q.4 B. Mr. Vnay, an Indian c1tlzen leaves lndla on ll 12- 2022 for the first time, to ‘work as an

officer of a company in Slovenia. Determine his residential status for the assessment year .
2023-24. (1 0)

. % \A::;N/ F 6R ) - “'l" |
Q.4 C.Mr. Dharmendra furmshes you the follﬁwrng particulars for, the prevrous year ending 31%
March,2023. He requests you to:compute the taxable oapltal gain. for Assoss,m ent year
©2023- 24 \-. : _ . .?w 10)

1) He purchased\, remdentral property on 15“‘ February, 1998 for Rs. 9, 00 000
2) Fair Market Value on- & Aprll 2001 was Rs.10,00, 000

,§1\?3) He sold on 15" October 2022 his resrdentlal propeﬁ}’ for Rs 95 00, 000.”:-
4) Expenses on transfer amounted to Rs 1,25 000

Tu

5) I-Ie mcurred expenses on improvement:
“Rs. 2,10, 000 in the financial Year 2007- 08
Rs. 3; 80 000 i m the financial year 2019 20. >
6) He purchased a new re51dent1al house for Rs. 40,00, 000 on 22th November, 2022
7) He deposned Rs. 9 50 000 in e11 glble bonds 1ssued by Rural Electrician Corporation Limited
=t\.\fi(RECL) on 317 December 2023 ~

Relevant Cost Inﬂatlon Indlces are as follows

Prev:ous Year : Cost Inflation Index
200102 " 100
2007-08 129
2019-20 289
- 202223 ; 331
36362 Page 5 of 13
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Paper / Subject Code: 23115 / Direct and Indirect Tagation Papief - I

Q.4 D: Mr. Tushar has earned the followmg income durmg the preV1ous year. ended on 31%

March, 2023. : el . £} g (10)
Particulars ' o~ ™ & I Rs:: &

1) Income from business in Pune, controlled from U SA. &9 A 3,75,000

2) Income from agriculture in Bangladesh £ | 5,50,600

3) Rent from house in Nasik, received in London 5 oA 1,25,000

4) Professional fees earned in India, received in Sri Lanka o 31300,000 s

5) Royalty from a company in-Japan, received in UK. L 2,25,0004)

6) Interest credited to ABC Bank, New-York Branch ; ; < 1,20,000

7) Income from business in-U.K. controlled from Mumbai. - | 2,00:000

8) Amount brought 1nto India out of the past untaxed preﬁts eamed 1,44,500

outside India _ ¢ B = Rl

5

Compute his total ‘income for the assessment year 2023-24 assuming as-follows:
a) He is Resident and Ordmanly Resident -
b) Heis Non Res:dentJ

Q.5 A. State the exempt Income: under Sectlon 10 of the Income Tax Act. < 10

B. Discuss the prawsmns of Deprecratlon under Section 32 and explam the concept of Block of '
Assets 3 K 3 ; ! 4 (10)
.\ _ - 5 _I-<;.. P V{gOR | by ; _{\,

+Q.5.C Write Short notes on: (any fnur) > o & N (20)

i. Defi mtlon of As‘.sessee and Assessment o
ii. Ext:cptlons to the Basic Conditions of Re51dcnt1al Status of an mdmdual o
iii--Pre-construction period interest- '
iv. Deductions under Section 80 DD
..v. Taxability of Gift i
< i, Gross Total Income and Net Total Income

iy

ke ok ok o sk ok ok ok ok sk ok
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A0 g AP & W
1. Export marketing usually mvolve& D & S A, ot y
¢ dominance of small énterprises’’ & ~ Y X
e extensive documenitation < . & R PR - L 3
A (o x \:“3' < \;;:;}
e minimal goveminbnt mterference o o G L o -
* limited comgctmon P R AR & o !
. o y o5 ~ pae S ¢
. ., ,E-_ ; .‘.._ky a4 :
2. isa type of cargqnsk & R B o &
. I_nsolvent;y of buyer S 2 o NG o &

e Appreciation of fi Hipee AV KRR A S &
o Change in international laws o & 5
. qus due to leakage in the s}np %

,\. ot
- RS A% :
3. _-:‘};‘ is on‘aof the comlaonents of Indla s merchandlse éxports. . o~ e

Re Readyﬁ‘iade garment o o3 & Res,
i ’\\ T yoN 8
e Consultancy N
° Commumcatlon < - : K
84 . Transportafbn P = ar &

j}:.":. J B : X &
4, o duty is based on the physwal characterlsncs of goods, 3
T \ =z, \ s " .«.. I M\‘. / ‘.__‘ ,‘?\s'
= e Spec1ﬁc A o K o
S - o~ o NG /_‘“«.-/‘
. %{kd valorem - 5 L A o
% . Slide Scale Fas L& e
. ;%- Counte:vallmg o 0 »;
o 5 Indla is one of thc foundcr«membcrs of A e
3 <2 N “u, o

. S_;AARC

e EU o e
‘s NAFTA 2
. OPEC

%

6. If thc exporter is scllmg low prlced products he may give profcrcnce to countries.

o Developmg & Q 3 i -
e Advanced ™ fa mEd ‘
7 . De?eloped : ' -

* OECD

7.MEIS and SEIS are “
: ~.* Rules for lmportcrs =
' chulatlons fore exporters

R
. Schémes introduced in: FTP 2015 20
"o Government bodies

& i R e
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Paper / Subject Code: 23116 / ExportMarketmg Paper L

8. Gum karaya, Niger seeds and Onions are

\.‘.

items in the negative list of exports.

e Restricted ¥

- Canalised & “

e Prohibited e L g

e Open a & o
9. Alphabet ‘E’ in EOUs stands for LA P o

e Exempted ?2”5 o . S L

e Export o o ¥ ’

* Exceptional - '

* Excise
10 ASIDE scheme prowdes beneﬁts for _ QO v

o Import of capltal goods '

o Infrastructure: development to states - :
o rgﬁmd of excise duty .. \ o
R 1mport of raw materlal in bulk

~has beemgwen the status of Deemed University in May 2002, by UGC

¢ 11.
o IIFT- : f
 IPTO ~ j' N |
o JICA :
o IIP .
12, __isa refund of custom duty pard for 1n;1portmg 1ngr:ed1ents for, export pr@ductlon
: J MAI \
« DBK
+ MDA
% IRMAC

Ql B. State whether the following statements are True or False. (Any Ten) (10)
L. There is lesser risk mvolved in export marketing as compared to risk in domestic

" marketing. ~

Poor 1nfrastructure and reductlon in export incentives poses problems for Indian

‘exporters .

3. Software services do not make any major contrrbutron to India’s service exports.

Trade barriers are restrlctrons 1mposed on movement of goods between countries.

5. Regronal Economrc Groupmgs leads to betterment of social and cultural ties among
member countrle,s
Overseas marketmg research is conducted to 1dent1fy marketing opportunities and

TRt challenges :

7. RBIj 1ssues IEC to Indlan 1mporters and’ exporters

8. Cattle and Camel are included in the negative list of exports.

9. Specwl Economlc Zones were setup to enable hassle free export activity.

10. MDA scheme supplies imported raw material to small exporters.

11 FICCI was established by Mr. G.D. Birla and Mr. P. Thakurdas

17, IGST 1s collected by State Government.
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Q.2. Answer any two of the following . 50 X% ~(15)
‘) What is the importance of exports | for exportlrIg ﬁrms‘7 WY )
b) Explain the factors mﬂuencmg e‘ﬁ’port marke’fmg &
¢) Discuss India’s services expons since 2015 & - %
S N & &y
Q.3. Answer any two of the followin. ﬁ:ﬂw A {i-;;'” _ &\., : \ - -5%15)
a) Discuss the types of Non-Tariff ba:;ncrs o> S If o
b) Describe the negative lmpact of Regwnal Economlc Groupmgs .
¢) What are the steps nrvolved in market selei:tlon prog@ss‘? 3; _‘k-’_".-’ {} "
Q.4. Answer any two of the: fouowmg i \ g (15)
a) Explain the hlgl"fhghts of Forelgn Tr&d’e Pohcy 2015 20 ' i o

b) Describe the»bolc of Dyéﬁctor Genéral of Fogglgn ‘Trade- m ‘India’s QXpOl't trad&
c) Explam theBeneﬁts extended tﬂﬁfowns of Excellencein India.

g

Q.5. Answer any { two of the 'fgllowmgﬁ > \?5"‘ S & " 15)
a) Dlscfi’ss [RMAC“*schemc &chn to Indlan Exportcr 3 _5' =
b) Enymeratc dlﬁ'ercnt furlc“flons of Fe:acratlon of Indian E,xﬁoﬁ Orgamzatlon
(FIEO). 9
c) Explam;the Ex.port Promotlop Capltal Goods (EPCG) schemcf < %
Q6 Wnte notes on the followmg (ﬁny fou r)w o & __\g,?:%(ZO)
(a) Features of export marketing g ' % L
(b) DomestlpMarketmg v/s Export: Marketmg L
(¢) Need of overseas market research e
(d) Deemed Exports'- '
(e) Software Technology Parks
H Export Promotmn Counclls (EPCs)

&y
i
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Paper / Subject Code: 23101 / Financial Accounting anqudntmg VII Financial Accoﬁntmg **

—

Time: 3 Hrs Marks\IOO

N.B: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Working notes should form part of your answer.
4) Use of simple calculaton isiallowed._

Q. 1 a) State whether the followmg statements are frue or false (any ten) A 0). S
1) Short term provision is a p@u’m oi Non, Current Liabilities.
2) Contingent liabilities are shown in'Balance Sheet under the head Current liabilities.

3) Change in Inventory = Opening Stock of Raw Material less Closing Stock of Raw Materlal

4) If the buyback exceeds 10% of the paid-up capital, the board of directors has the duthonty to approve
it by resolution at a meeting. X

5) The debt equity ratio must be more than 2:1 after buyback.

6) The buyback must be completed within 15 months from the date of passing the resolution.

7) In the case of internal reconstruction, no new company is created.

8) Alteration of share capital is one of the methods of Internal Reconstruction.

9) Interest is always calculated on the face value of the securities.

10) Profit from the sale of an investment should be debited to the i investment account.

11) CSR stands for Corporate Socil Responsibility.

12) Ethics is a branch of moral philosophy that guides people about the basic human conduct.

Q. 1 b) Match the following items from column A with column B (any ten) (10)
' Column A Column B
1) Debentures a) Subdivision of Shares
2) Mining Rights b) Not available for buyback

3) Conversion of shares of larger denomination ¢) Without Interest
in to shares of smaller denomination

4) Credit balance of Capital Reduction account d) Nothing is to be recorded in cost column

5) Internal Reconstruction ¢) Reports certain types of wrongdoing
6) Escrow Account f) Moral Principles and Values

7) Revaluation Reserve g) Example of Intangible Asset

8) Investment in Equity Shares h) Capital Reserve

9) Cum Interest 1) Long term Borrowings

10) Bonus Shares received J) Example of Variable earning security
11) Whistle blowers k) With Interest

12) Ethics 1) Necessary to open for Buyback Process

m) Process of reorganization of a company
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Q. 2 Following is the Trial Balance of Pruthvi 1td; as on'31% March 2023. (20)
Particulars Amount Particulars Amount Rs.
Rs. _
Land & Building 8,00,000 18,000 Equity Shares of Rs.
' 100 each fully paid . 18,00,000
Plant & Machinery A 3,Q{):000 Gengral Reserve 4,00,000
Furniture 55,000 Bank Loan«(LCong Term) 4,02,500
Purchases 3 15,02,709 | Unclaimed Dividend , 1,500
Salaries D 7,00,000 | Sundry Creditors ' 1,28,652
Wages \ 4,30:442 12%Debentures 2,73,000
Bank Interest . ) 75,000 | Sales 32,51,841
Rent Paid 30,000 | Interest on Investment 25,632
Repairs 5 25,000 | Surplus:(01/04/2022) 50,544
Miscellaneous Expenses 20,000
Audit Fees 15,000
Gpglj’i'ng Stock 5,16,174
Surdry Debtors 4,00,000
Bills Receivables 2,97,140
Long term Investment 8,66,850
Advance Income Tax 1,35,000
Cash at Bank 1,65,354
Total 63,33,669 | Total . 63,33,669

Following are the other particulars:
1) Provide 10% Depreciation on Land Building and Plant Machinery.
2) Outstanding Wages were Rs. 19558
3) Interest on Debentures is outstanding for the year 2022-23.
4) Transfer Rs. 1,50,000 to General Reserve.
5) Directors Proposed Dividend @8%.
6) Bills Receivable includes a dishonored bill of Rs. 50,000.
7, On 31% March 2023, Stock of finished goods was valued at Rs. 6,46,040).
8) The Authorized share capital of the company was Rs, 20,00,000 divided in to 20,000 Equity Shares
of Rs.100 each

Prepare statement of profit and loss account for the year ended 31 March 2023 and Balance
Sheet as on that date. :

J OR
Q. 2 Mr. Manoj holds 1,500, 10% Debentures of Rs. 100 each in Rahul Itd; as on
1* April 2022 at a cost of Rs. 1,80,000. Interest is payable half yearly on 30™ September and

wii Jvoep

31¥ March every year. F ollowing are the transactions for the year ended 3 1* March 2023. (20)

Date Particulars No. of Debentures Rate ’
31/05/2022 Purchase 1,200 Rs. 95 Cum interest
30/06/2022 Purchase 300 Rs. 90 Cum interest

35851 Page 2 of 14
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B

Fmancnal Accountmg & N

01/11/2022 Sales 1,200 .Rs. 110 Cum interest
30/11/2022 Purchase 900 | Rs. 97 EX interest
01/01/2023 Sales <600 | Rs. 105 Ex interest

01/02/2023 Purchase 300 Rs.

93 Ex interest

0170372023 Sales 1,200: Rs.

103 Cum interest

The books of accounts are closed on 31% March every year.

Prepare Investment in 10%

Debentures account in the books.of Maan for the year ended 31 March 2023. Market value of the

above Investment on 31 March 2023 was Rs. 1 22 000

Q. 3 Following is the Summarize,dealance Sheet of Shital Ltd; 2s on 315 March 2023.  (20)

Particulars Amount Amount
Rs. Rs.

L. Equity and Liabilities
Equity Shares of Rs. 10 each fully Paid 30,00,000

12% Cumulative Preference Shares of Rs. 100 each fully paxd 15,00,000 | 45,00,000
12% Debentures 15,00,000
Interest on Debentures 1,80,000
Creditors 15,00,000
Bank Overdraft 3,00,000
Total 79,80,000 |
IT Assets
Goodwill 3,00,000
Land and Building 28,00,000
Plant and Machinery 5,00,000
Furniture & Fixtures 8,00,000
Investments 4,30,000
Stock 6,00,000
Debtors 10,90,000
Cash at Bank 1,00,000
Profit and loss account 12,00,000
Discount on Issue of Shares 75,000
Preliminary Expenses 85,000
Total 79,80,000

Preference Dividend is inarrears for two years. Following scheme of Reconstruction was

approved by the court.

1) Preference Shares were converted in to equal number of fully paid 10% preference Shares

of Rs. 70 each.

2) Equity Shares to be reduced to Rs. 6 cach fully paid up.
3) Investment was sold at a profit of 10%.

4) Preference Shareholders waived half of the arrears of dividend, and the remaining amount

was paid in cash.

5) 12% Debenture holders agreed to accept Plant and Machinery for Rs. 7,00,000, and for
remaining balance they accepted 8 ,000, 15% Debentures of Rs. 100 each fully paid.

35851 Page 3 of 14
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6) Debenture holders agreed to forgo 50% of the interest and remaining balance is to be paid

off immediately.

7) Write off Goodwill, Debit balance of Profit and loss a/c, Discount on Issue of Shares and

Preliminary Expenses.
8) Bank Overdraft was paid.

You are requested to pass necessary journal entries, Prepare Capital reduction account and

Balance Sheet after Reconstruction.
SOR

Q. 3 a) From the following infom};f’t’ibn prepg;r,é statement of Profit and Loss account of
Nitin Itd; for the year ended 31% March 2023

[ : Particulars Amount Rs.
Sales 20,20,000
Miscellaneous Receipts 2,500
Interest Received on Government Bonds 6,000
Reserve for Bad Debts'(01/04/2022) 8,000
"Sales Return ; 20,000
—Opening Stock of Raw Material 1,00,000
Purchase of Raw Material 10,50,000
Freight on Raw Material 50,000
Opening Stock of Finished Goods 1,50,000
Wages: 75,000
Salaries 4,00,000
Bad Debts 6,000
Debenture Interest 14,000
Rent Rates & Taxes 13,000
Travelling Expenses 4,000
Depreciation on Fixed Assets 60,000
Carriage Outward 3,000
Closing Stock of Raw Material 75,000
Closing Stock of Finished Goods 2,00,000
Provision for Bad Debis (3 1/03/2023) 10,000

Provision for Taxation should be made at 20% of the Profit

Q. 3 b) From the following information Find out M

Back by the Shreyash Ltd; at a offer Price of Rs. 250 Per Share.

s Particulars Amount Rs.
Authorised Share Capital:
1,00,000 Equity Shares of Rs. 100 each 1,00,00,000
10,000, 10% Preference Shares of Rs. 100 each 10,00,000

35851
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Per share Called up and Paid Up. 56,00,000

5,000 10% Preference Shares of Rs. 100 each

fully Paid 5,00,000

Reserves:

General Reserve 12,00,000

Securities Premium 25,00,000

Profit & loss a/c: 51,00,000

Long term Borrowings

10% Debentures | 25,00,000

Bank loan 25,00,000

Current Liabilities:

Creditors 15,00,000

Q. 4 The Summarized Balance Sheet of Prakash ltd; as on 31% March 2023 (20)
Particulars Amount Rs. | Amount Rs.

L. Equity and Liabilities
1. Shareholders’ Funds
a) Share Capital
4,00,000 Equity Shares of Rs. 10 each fully Paid 40,00,000
b) Reserve & Surplus
Securities Premium 7,00,000
General Reserve 10,00,000
Profit and Loss a/c 3,00,000 60,00,000
2. Non Current liabilities
a) Long Term Borrowings
11% Debentures 12,00,000
Bank Loan (long term) 9,00,000 21,00,000
3. Current liabilities = |
a) Trade Payables
Sundry Creditors 6,00,000
Total 87,00,000
IT Assets
1. Fixed Assets 55,00,000
2. Bank Balance 18,00,000
3. Other Current Assets 14,00,000
Total 87,00,000

35851

Issued, Subscribed, Called up and Paid up:
70,000 Equity Shares of Rs. 100 each, Rs. 80

Ascertain the maximum number of shares the company can buyback at a price of Rs. 30 per

share. Assuming the buyback is actually carried out:

a) Pass Necessary Journal entries in the books of Prakash Ltd; and

b) Prepare Balance Sheet after buyback.
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OR
Q. 4 a) On 1% April 2022 Mr. Dhananjay had 3,000 Equity Shares of Rs. 100 each at a cost (10)
of Rs. 6,90,000. He furnished the following particulars for the year ended 31/03/2023.

Date No. of Shares Transaction details
30/04/2022 2,000 Purchased @ Rs. 220 per Share
31/07/2022 5,000 Bonus Shares Received
31/12/2022 4,000 . Sale @ Rs. 220 Per Share

Following additional in_foﬁhation is also providf;d by him:

1) On 31* August 2022 Dividend @ Rs. 30per Share for the year ended 31/03/2022 was received by

him.

2) On 30 September, 2022 The Company issued ti
shares held on Payment of Rs. 200 per share. Mr. Dhanan
remaining to Mr. Pravin @ Rs. 150 per Share.

You are requested to prepare the Investment in E

31% March 2023.

oh
5

Q. 4b) Following is the summarized Balance Sheet of M/s ] ayashri Ltd; as on

ght shares; in the ratio of one share for every five
jay Subscribed 50% of the Rights and Sold

quity Shares account for the year ended

31%March 2023 (10)
[ Liabilities _ Amount Rs.
10% Preference Shares of Rs. 100 each 10,00,000
Equity Shares of Rs. 10 each 15;00,000
11% Debentures 3,00,000
Sundry Creditors 3,00,000
Other Current Liabilities 6,00,000
Total 37,006,000
Assets:
Goodwill 4,50,000
Land & Building 15,00,000
Plant & Machinery 7,00,000
tock 6,00,000
Publicity Campaign Expenses 4,00,000
Discount on issue of Debentures 50,000
Total 37,00,000

Following scheme of Reconstruction has been approved by the court:

1) Equity Shares to be reduced by Rs. 3 per share.

2) 10% Preference Shares were reduced to Rs. 80 per share fully paid up.
3) 11% Debenture holders agreed to waive 30% of their rights.

4) 30% of the creditors are to be reduced to 80% and 60% of t

5) All intangible and Fictitious Assets are to be written off.

35851
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6) Assets were revalued as: Land & building Rs. 16,00,000
: Plant & Machinery Rs. 7,50,000
: Stock to be reduced by Rs. 62,000.

You are required to pass necessary journal entries and prepare capital reduction account in the books
of M/s Jayashri. '

Q. 5 a) Explain the effects of unethical behaviour on financial reporting. (10)
b) What are the sources of buyback? Explain benefits of buyback. : (10)
OR
Q. 5 Write Short No‘tfeAs (Any Four) A (20)

a) Reserve and Surplus in Final Accounts of Companies
b) Consolidation and Subdivision of Shares

¢) Whistle Blowing

d) Ex Interest and Cum Interest : :

e) Property, plant and Equipment (Tangible Fixed Asset)
f) Need of internal Reconstruction

ok e o ok o ke ksl ok sk sk ok
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N.B: (1) All questions are compulsory with internal options.
(2) Figures to the right indicate full marks.

(3) Working notes form a part of the answer and have to be solved immediately after the question and
not on the last page of the answer sheet.

Q.1. (A) Select the correct answer from the options given below: (Any Ten) (10)
(1) document indicates what the business owns and what it owes on a particular date.
(Balance Sheet, Revenue statement, Cash Budget)
2) is non quick asset.
(Cash and bank balance, Closing stock, Bills rcce,lvable)
€)] is a fictitious asset.
(Formation expenses; Livestock, Copy rights)
4) is an example of contingent liability.
(Outstanding expenses, Unclaimed dividend, Cumulative preference dividend in arrears)
* (5)  Preliminary expenses are considered as , expenses.
(Administrative expenses, Selling expenses, Finance expenses)
(6) Ratio is also known as near money ratio.

(Liquid ratio, current ratio, stock turnover ratio)

(7)  Capital Gearing ratio is also known as
(Financial leverage ratio, Capital employed ratio, Debt ratio)

(8)  If closing stock of company is Rs. 1, 00,000, Current Assets of company Rs. 4, 00,000
and current liabilities are Rs. 2, 50,000. Calculate stock working capital ratio
(67%, 15.38%, 25%) :

(9) Refund of income tax is

(cash inflow from investing actmty, cash inflow from operating activity, cash inflow
from financing activity)

(10) Net profit ratio indicates the relationship between

(Net profit and sales, Net profit and capital employed, Net proﬁt and Equity shareholders’
funds)

(11)  Issue of preference shares is a activity.
( Operating, Investing, Finance)

(12) Bank Overdraft is a
(short term source of finange; Long term source of finance, not a source of finance)
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(B)  Match the following: (any 10)
A B
1 | Secret reserve 1 | Intangible asset
2 | Non quick liability 2 | Owned source of finance
3 | Current Asset 3 | Cash outflow from investing activity
4 | Purchase of land 4 | Bank overdraft
5 | Secured loan 5 | Bills payable
6 | Trade mark 6 | Cash and Bank balance
7 | Current ratio 7 | Under valuation of inventory
Adjusted in net profit as non-
8 | Financial statements 8 | operating item
9 | Trend analysis 9 | Total current assets
10 | Gross working capital 10 | Direction of data
11 | Loss on sale of fixed asset 11 | Financial position
12 | Dividend payout ratio is high 12 ] 2:1
13 | Liberal dividend policy
14 | 1:1
N .
Q2. (A) Given below is the balance sheet of Akshay Ltd., as on 31 march, 2022. Convert it
into vertical form,
Balance sheet as on 31° march,2020
Liabilities Rs. | Assets Rs.
Equity shares 5,00,000 | Land 4,00,000
6% Preference share capital 3,00,000 | Premises 2,50,000
Bank loan 3,00,000 | Goodwill - 4,00,000
Reserves and surplus 4,00,000 | Furniture 2,50,000
Bank overdraft 1,00,000 | Investment (3% G.P.Notes) 90,000
Creditors 1,00,000 | Stock o 70,000
Proposed dividend 50,000 | Sundry Debtors 1,00,000
Provision for tax 50,000 | Cash 80,000
Bills receivable 60,000
Underwriting commission 1,00,000
Total 18,00,000 | Total 18,00,000
OR
Q2. (B) Following information of Satya Ltd., is given as on 31* March, 2022
Particulars Rs.
Sales 75,00,000
Purchases 50,00,000
Opening stock 5,00,000
Closing stock 7,50,000
Return inward 75,000
Carriage inward 50,000
Carriage outward 57,000
Return outward 50,000
Salesman salary 75,000
Advertising and publicity 2,52,000
Salesman travelling allowance 7,500
Office salary 4,00,000
36287
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Computer repairs and maintenance 84,000
Rent, taxes 4,000 |.
Postage and telegram 400
Bad debts 75,750
Purchase of computer 40,000
Staff welfare expense 44,000
Dividend on shares 10,000
Interest (Dr.) 50,000
Loss on sale of shares 25,000
Prepare vertical Income statement from the above information for suitable analysis.
Prepare Common size Balance sheet of Kamlesh Ltd., as on 31* march 2022
Liabilities Rs. | Assets Rs.
Equity share capital 2,00,000 | Goodwill 1,00,000
Preference share capital 1,00,000 [ Plant and machinery 1,00,000
General reserve 20,000 | Land and Building 1,40,000
Profit and loss A/c Bal. 80,000 | Furniture 20,000
Provision for tax 21,000 | Stock 1,20,000
Bills payable 39,000 | Bills receivable 16,000
Creditors 1,00,000 | Debtors 40,000
Bank overdraft 20,000 | Bank 44,000
Total 5,80,000 | Total 5,80,000
OR
Complete the following Income Statement Trend Analysis for three years of HCL
Litd.
Particulars Amounts(Rs.,) Trend Percentage
2011(Rs.) | 2012(Rs.) | 2013(Rs.) | 2011(%) 2012(%) | 2013(%)
Sales 2 5,50,000 | 6,50,000 100 ? 130
Cost of goods 2 2,50,000 ? 100 125 ?
sold
Gross Margin ¥ ? 100 ? 120
Administrative 60,000 ? 100 115 125
expenses
Selling 2 50,000 2 100 125 150
expenses
Finance ? 31,000 ? 100 ? ?
charges
Total operating ) ? ? 100 ? 2
expenses
Profit before 2 P! 1,80,000 100 100 120
tax
Income tax 60,000 ? 100 120
Profit after tax ? 75,000 100 120
Page 3 of 13
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From the following Balances of assets and liabilities and profit and loss account of (15)
Agni Ltd., ascertain the following ratios and offer brief comments:
(a) Acid test ratio (b) Capital Gearing ratio
(c) Operating ratio (d) Dividend payout ratio
(e) EPS
Liabilities Rs. | Assets " Rs.
Fixed-assets  1,60,000
Equity shares 1,50,000 | (-) Dep. 30,000 1,30,000
8% Pref. share capital 1,00,000 | Investments 1,00,000
Reserve and surplus 62,000 | Stock 80,000
10% Debentures 50,000 | Debtors 60,000
Bank loan 40,000 | Bank 85,000
Creditors 60,000 | Bills Receivable 50,000
Provision for tax(C.Y) 20,000 | Preliminary Expenses 5,000
Bank overdraft 20,000
Proposed pref. dividend 8,000
TOTAL 5,10,000 TOTAL 5,10,000
Profit and loss account for the year ended 31% December,2022 :
Particulars Rs. | Particulars - " Rs.
To opening stock 70,000 | By sales 9,00,000
To purchases 5,40,000 | By closing stock 80,000
To wages 2,14,000
To Gross profit ¢/d 1,56,000
9,80,000 9,80,000
To Salaries 26,000 | By Gross profit b/d 1,56,000
To Rent 5,000 | By interest on Investment 5,000
To Misc. expenses 15,000
To Selling expenses 10,000
To Dépreciation 30,000
To Interest 5,000
To Provision for tax 20,000
To net profit ¢/d 50,000
1,61,000 1.61.000
Market value of equity share is Rs. 12 and diyidend paid per equity share is Rs. 2.
OR
The following is balances of assets and liabilities of Kishore Ltd. Convert it in (15)
vertical form for suitable analysis and Compute the followmg ratios.
(a) Acid test ratio (b) Proprietary ratio
(c) Current ratio (d) Capital Gearing ratio
(e) Stock working capital
ratio
Rs. Rs.
Cash at bank 12,500 | Land and building 2,00,000
Prepaid expenses 15,500 | Stock ) 68,250
Creditors 1,01,500 | Debtors 1,30,750
Bills receivable 5,250 | Plant and machinery 1,36,000
12% Debentures 62,500 | Loan from directors 1,00,000
Equity share capital 2,50,000
Profit and loss A/c(Cr.) 54,250
Page 4 of 13
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The following summary Balance sheets of ABC Ltd., for the year ended 31*' march,
2022 and 2023 Prepare a cash flow statement as per As-3 by indirect method

Liabilities 2022 2023 | Assets 2022 2023 |

Equity share capital | 1,20,000 | 1,20,000 | Land 2,10,000 | 2,70,000

5% Preference 90,000 60,000 | Building 2,85,000 | 2,70,000

share capital

General reserve 30,000 42,330 | Stock 27,000 | 36,300

Profit and loss 15,240 28,080 | Debtors 40,440 | 38,460

account

Provision for tax 17,000 8,000 | Prepaid expenses 25,880 17,000

Creditors 3,37,560 | 3,81,910 | Bank Bal. 15,480 3,160

Misc. expenses 6,000 5,400

6,09,800 | 6,40,320 6,09,800 | 6,40,320

Additional information: .
(i) The company paid an interim dividend of 5% on equity shares.
(ii) Preference shares were redeemed during the year at 10% premium.
(ili)  Income tax paid during the year Rs. 15,000
Prepare cash flow statement for the year ended 31 march ,2023

OR

The following summary Balance sheets of Alka Ltd., for the year ended 31* march
2021 and 2022. Prepare a cash flow statement as per As-3 by indirect method

Liabilities 2021 2022 | Assets 2021 2022

Equity share capital | 3,00,000 | 5,00,000 | Goodwill 1,10,000 | 90,000

General reserve - 60,000 | Land and Building | 1,60,000 | 1,80,000

Profit and loss - 58,000 | Plant and 80,000 | 2,00,000

account machinery

Debentures 2,00,000 Stock 84,000 | 1,06,000

Creditors 1,14,000 92,000 | Debtors 1,80,000 | 1,56,000

Bills payable 60,000 12,000 | Advance income -| 40,000
tax

Provision for - 50,000 | Bills Receivables 16,000 24,000

mcome tax

Proposed dividend - 40,000 | Prepaid expenses 12,000 8,000
Cash in hand 20,000 8,000
Profit & Loss Alc 12,000 -

Total 6,74,000 | 8,12,000 | Total 6,74,000 | 8,12,000

Additional information:

1. During the year ended 31* march, 2022 depreciation of Rs. 16 ,000 and Rs.

20,000 have been charged on land and building and plant and machinery
respectively.

2. Anlnterim dividend of Rs. 15,000 was paid during the year ended on 31* march
2022.

3. During the year machinery having boo value of Rs. 16,000 was sold for Rs.
14,000.

Prepare cash flow statements by AS-3 method.
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What are the functions of finance manager?

What do you mean by inter statement ratios? Explain any two inter statement ratios.

OR
Write short notes on : (any four)

Classification of sources of finance
Importance of financial management

Cash flow from Investing activity

Common size statement and its advantages

Uses of ratio analysis

Any three Balance sheet ratios
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N.B:
1. All questions are compulsory
2. Figures to the right indicate full marks

Q1 A. Complete the fol]cwing statements by selecting the appropriate
Answer (Any 10) : ' (10)

1. Managers who are required to perform duties that are ceremonial and symbolic in nature are
called .

a. Figure Head

b. Leader

¢. Monitor

d. Negotiator

ii. skill encompasses the ability to apply specialized knowledge or expertise.
a. Human
b. Informational
c. Technical

d. Interpersonal

iii. The science that seeks to measure, explain and sometimes change the behaviour of humans and
. animals is a called
a. Sociology
b. Intuition
¢. Social psychology
d. Psychology

iv. The component of an attitude is a description of or belief in the way things are.
- a. Affective
b. Cognitive
¢. Behavioral
d. Motivational

v. measures the degrec to which people identify psychologically with their job.
a. Job satisfaction
b. Organizational commitment
c. Job engagement
d. Job involvement

refersito employee’s beliefs in the degree to which they influence their work
environment, their competerice, the meaningfulness of their job and their perceived autonomy.

Vi

a. Ps‘}{gﬁological_ ghipowerm‘éht
b.torrg’énizatiQ'tiz’ii' commit%ént
c.Job en gagément

+d. Job involvement
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A

vii. The three elements in motivation are intensity, direction, and .
a. Persistence

b. Performance
c. Attitude
d. Feedback

viii. Goal setting theory says that specific and difficult goals. with feedback, lead to

a. Higher performance
b. Higher satisfaction
¢. Higher incentive
d. Higher payment

ix. The perceived fairness of the process used to dgtermine the distribution of rewards is known as

a. Procedural justice

b. Organizational justice
¢. Interactional justice
d. Distributive justice

X. is defined as the ability to influence a group toward the achievement of a vision or set
of goals.

a. Belief
-b. Feelings

> ¢. Apprenticeship

d. Leadership

qucﬁiionnairt_e_-.-to identify.the style ofleadership.

b_ PLC': w._:--'" 3 3 . Y N j
c.LPC :

d. PRL

’Xil. is a characteristic of transactional leaders.

a. Contingent reward
b. Empathy
c. Idealised influence

- d. Infellectual stimulation

Q1 B. State whether the following statements are true or false (Any Ten) 10)

7L Managers need to have three broad management skills.
ii.  In his informational role, the manager has to act as a monitor.

ili.  When the manager is responsible for motivating and directing employees he is performing a
figurehead role.

¢iv.  Employee engagement is a negative work related attitude.
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v.  In organisational commitment an employee identifies with a particular organisation and it’s . »"
goals and wishes to remain a member of the organization. >
vi..  Job satisfation describes a positive feeling about a job resulting from an evaluation o7 its
characteristics.
vii.  Herzberg proposed that human beings have a hierarchy of needs. %
vili.  Interactional justice is the perceived degree to which one is treated with dignity and respect. -
ix.  The equitty theory focuses on three relationships.
X. Initiating structure was the behavioral dimension of leadership identified by the Ohio State
studies.
xi.  Fiedler’s contingency theory does not include Leader's position power dimension.
xii.  Conventional behavior is a characteristic of charismatic leaders. » o
" L& ™ W P b w3 o

Q2. Answer Any Two of the following: (15)

a) Explain the concept and Functions of Manger. ;
b) Define Organizational Behavior. Illustrate the importance of Interpersonal Skills at the workplace.
c) Discuss the challenges of Globalisation before Organisational behavior.

Q3. Answer Any Two of the following: 15)
a) Elaborate on the concept of attitude and discuss its components.

b) Discuss the Job involvement and Organisational commitment as major job attitude.

¢) What is Job Satisfaction? Explain the determinants of Job Satisfaction.

Q4. Answer Any Two of the following: (15)
-a) Explain Herzberg’s Two-factor theory of motivation
> b) Describe the three elements of motivation. Explain the theory of needs by ~ McClelland.
¢) Explain the Expectancy theory of motivation.

QS. Answer Any Two of the following: as)
..a) Define leadership. Explain the trait theories of leadership.
2~ b). Explain the behavioral theories of leadership
: c) Explain the concept of transactional and transformational leaders and highlight their
characteristics.

- Q6.Write short notes on (Any Four) . (20)
~¥" a) Managerial Skills.
b) Challenge of Workforce Diversity.
c) Job Enrichment.
d) Theory X and theory Y of motivation.
.~¢) Charismatic leadership
.2 f) Mentoring.

o e e okok o ok ok ok o ok ok ok ok ok ook ok ok ok sl ok ok

39026 | ' - Page 3 of 6

8560F0FC45EBY905D73A5AB56C1424D54



Paper / Subject Code: 23102 / Business Management Paper - I

TNB M | Sem ~V

= [ 3dA R e S '{'DI'UT: foo0

AT 9. Od Uy AfHETd IR,
?. Ireltensier 3teh qui ot FvifaaTa.
3. M5 3T T AT WAt .
2. () Tl et wataime d 3w feen. @ go) (R0)
|, IR E wmmawmmmﬁﬁﬂé?ﬁ BIERIEIE
(Frveety, e, 3fes, )
¢ R, SHEETITE ST TR 3. (3@, e, sifter, sra)
3. WW__H@WERMIMM.(WW,qac*-lﬂﬁﬁ?ﬁ,ﬁﬂ‘fﬂﬁﬂ‘f,qﬁﬂrrﬂ[)
¥, SRR GO BT g vy e sitewe S,
y. PrER watfer = SR, (afAY, syebres, S, TR
£ %ﬁtﬁ_ﬁmﬁﬁmmﬁrﬁﬁqﬁﬂﬁw&mmm.(mdfﬁmql,ﬂm,ﬁmﬁ?ﬁaﬂ
b, THE S AT AT §]4 0 HE AR el e,
(e ok, s g, T, 3%, <)
¢, vt oot Sl arht e, (R, Fraor, e, st
e e TR/ e wARe Siten. (deed, wae, e, )
Ro. ¥ aveft e ame SR afts e svelieesr s situeies SR swiiE
R TRV HHT HEdIE TS S0 ST el RS9 e,
(e, Toere, wmer, et e
R, __ wETE SgRhET A1 A1 e yheg B

36027 Page 3 of 5

19152708C15AA4CB93D215D405E77585



Paper / Subject Code: 23102 / Business Management Paper - I

T. 2. () WIS U Oed ST2d chi ST AT d . (RIVATET L0) (20)
%, VI SFEETIh e ST B Yehdld.
R. ST ST i ST o6 faveRia v s SretEdrd.
3. VT SEIR STEEA TR AT HeAne T fof Svard wam .
¥. ITeq-Si Pt vt 31ed e arat, ATaRuI U auiadas (st .
Y. =Rl ST i eI T .
. PVl fofer Svegefl eyt wie fersdor 0.
©. Eﬁ.Q.ﬁﬁ?ﬁl’HW]‘ﬁWdtﬂlﬂIng; e,
¢. AR YEH Hee TS HTE e TEd.
R. ST FRUrSt R SholedT shaeaioaT hIni =] Hevid SutaTied €.
% o 2T TercaTareT TTRTeavT ShuTHe AT / shEedaser fae Siid.
2R FHHS thi*.dﬁﬁﬁammaﬂﬂﬁrﬂ%wmmm. ‘
2.7 Fersymon 1 et oy Frarian iy fofg 312,
MR ETCATCIdehT HIVIEATET & Ser=t I forar, (3W)
31, SHETI Ueh YT ST 17 ==l .
o, STk ey frgiaren fafay e avf =,
. HAHTHIU] SHT AT SHeETI=T=f s T8 .,

T.3.  WTelierdchl SHivreret g watet I feren. | (W)
g.ﬁtﬁmwﬁﬁa?ﬁafaﬁuzt&mm.

. Toig Suare e 3nfiT HE T

T awﬁaﬁﬁaﬁmgnmaﬁﬁm (34

), Torisor wveq revrst v s e fraiie som wes sy =,
%, i aﬁﬁﬁmamjaﬁvﬁmﬁ:wmﬁa TS TIT .

36027 Page 4 of 5

19152708C15AA4CB93D215D405SE77585



Paper / Subject Code: 23102 / Business,Ménagen\)gﬁt’ Paper -1

T4 ETATedeht HivTeaTel A wariet 3w forer.
. Wi fafay & wre .
. ST FHar=rTard! Sirav= fafe gedt dewar forer.

W& fourfermn @ = m)

3. R AT IAFII T AR T
9. =i FRSHTETE =T SavE e
%, Higag doea

S, SATHTEH! HeEe

3. Frae ufsrn

. S e water

e 3e she o e e o ok sk e e e sk e ek ke

36027 ' Page 5 of 5

19152708C15AA4CB93D215D405E77585

(2%

(Ro)



Paper / Subject Code: 23129 / Elements of Operational Research Paper- I

Time 3 Hours : ' Total Marks: 100

Note:
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iii)

All questions are compulsory.

Figures to the right indicate full marks.

Use of non-programmable scientific calculator is allowed.
Graph papers will be supplied on request.

Answer whether following statements are True or False.

In group replacement policy, group replacement as well as individual
replacement is done. )

As the life of a machine increases, it’s operational efficiency also increases.
Optimum replacement interval of five years indicates that the assets should be
replaced at the end of every six years. . '

For a primal linear programming problem having 3-variable and 4 -
constraints, the dual problem would have 4-variable and 3-constraint.

Slack variables cannot appear in the basis of the optimal solution to a linear
programming problem.

Linear programming is the mathematical technique used to solve the problem
of allocating limited resources among the competing activities.

An optimum solution of each transportation problem is always degenerate
solution.

Vogel’s Approximation method (VAM) can be used to find optimum solution
to a transportation problem if some routes are prohibited.

Select most appropriate choice for the following:

In replacement theory, when time value of money changes with 10 % p.a. then
the present worth factor or discount factor is

a) 0.1 b) 02
c) 0.90909 d) 1

This innovative science of Operations Research was discovered during

a)  Word War-I b) Word War-II
¢) Indo-Pak War d) none of these

For a maximization linear programming problem, the coefficient of an
artificial variable in the objective function is

a) M b) -M
c) . zero d) none of these

Which of the terms is not used in a linear programming problem?
a) objective function b) constraints

" ¢) feasible region d) concave region
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V) When total supply is equal to total demggid ina trar,isportatiqnfp“roblem ttg/en it
is said to be ot 03 3y

a) balanced problem b) unbalanced problem
¢) restricted routes problem d) none of thes___f_:_

vi)  The initial solution to a transportation problem can be obtained using
a) least cost method b) Vogel’s Approximation method
¢) north westcomerrule d) all of these

vil)  In transportation problem, the solution is optimal when

a) all A 20
¢) atleast one Aij <0

b) all Aij <0
d) none of these.

Answer in one or two sentences:
i) State different types of sudden failure.
i)  Define artificial variable in L.P.P.
iii)  What is meant by gradual failure?
iv)  What is meant by feasible solution of transportation problem? :
v)  What cost is assigned to a prohibited route in transportation problem solution?

A company has three production plants P, Q and R and five depots for supply of a
product. The supply, demand and the transportation cost per unit from plants to
depots are as follows:

Transportation cost per unit in Rs. |. Bupply
Furnaces | Depots in%nit's
A B C D E
P 6 4 5 4 8 10
Q 7 6 7 4 3 14
R 8 7 6 9 9 16
eand | e kK | 107 10
in units :
What is the optimum shipping schedule for the product?
: OR

Solve the following transportation problem to maximize profit and find the optimum
solution.

Sources Destinations (Profit in Rs. Per . Supply
unit)
D-1 D-2 D-3 D-4
S-1. 20 5 2 13 100
S-2 24 15 10 10 30
S-3 18 18 8 10 70
Demand | 40 50 70 40

A firm uses three machines in the manufacture of three products A, B and C. Each
unit of product A requires 3 hours on machine I, 1 hours on machine IT and 2 hours
on machine III. Each unit of product B requires 4 hours on machine I, 1 hour on
machine IT and 3 hours on machine III. Each unit of product C requires 2 hours on
machine I,
each of these machines is 45 hours, 12 hours and 35 hours respectively. The per unit
profit contribution of the three products A, B and C is Rs. 35, Rs. 55 and Rs. 40

respectively. Formulate the above problem as linear programming problem and solve
it by simplex method.
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OR

1) A departmental store is planning for the annual sale of sarees and dress material.
The owner is planning to use two different forms of advertising, viz, SMS and
WhatsApp advertisements to promote the sale. The past experience shows that
each SMS reaches to 30 saree customers and 20 dress material customers and
each WhatsApp advertisement reaches to 40 saree customers and 80 dress
material customers. The cost of each SMS advertisement is Rs. 450 and the cost
of each WhatsApp advertisement is Rs. 300. The advertising department
requires 15 man-hours for each SMS advertisement preparation and 5 man-hours
for each WhatsApp advertisement preparation. The owner says that minimum 75
man-hours of advertising department should be utilized and the advertisements
should reach to at least 360 saree customers and at least 400 dress material
customers. ; D .

Formulate this problem as a linear programming problem to minimize

total advertising cost and solve it by graphical method.

if) Write the dual of the following linear programming problem:
Maximize Z=15X, +13X,+17X;
subjectto  3X; +4X,+5X; > 28,
2Xp+ 3X, +X5 < 24,
4X,-3X, +2X; > 21,
X120, X320, X3 >0

Attempt ANY TWO of the following:
A factory has 4000 bulbs: The failure rate of bulbs is given below:

Year I [2[3] 4135
Probability of failure: | 0.1 02]03] 03 |01

If the bulbs are to be group replaced, the cost per bulb is Rs. 4. The cost of individual
replacemeqt is Rs. 24 per bulb. Find the optimum replacement policy for the bulbs.

The initial cost of the machine is Rs. 20000 and running costs and scrap values are
given below: '

Year 1 2 3 4 5 6 7
Running cost(Rs.) 1000 | 2000 | 3000 | 5000 | 6000 | 9000 | 15000
Scrap value 4000 | 3000 | 2000 | 1000 | 500 | 500 | 3500

Find the optimum perioq of replacement for the machine.

An equipment requires initial investment of Rs. 32000 and its maintenance costs are
estimat\_e_d to be Rs. 6000 per year for first three years, increasing by Rs. 4000 every
year from fourth year onwards. The company expects 10% return on all the

investments. Assume there is no scrap value, find the optimum period of replacement
of the equipment.
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Q.5 Attempt ANY FOUR of the following ; 20
A Explain meaning and scope of the Operations Research techniques.
B State any five advantages of the Operations Research techniques.

C  Explain the following with respect to linear programming problem:
(i) Infeasible solutions. (i1) Degenerate solution,

D The following table is obtained after a few iterations using simplex method to solve
maximization linear programming problem,

G : 20 |25 10 |o o
G | X b.i (solution) X, X5 Si S, Ss3.
25X, |3 0 e )
20X, |5 i 1 0 (3 (3 o
0 [S; |2 0 0312 |d

. =
ij-Zj

Complete the above table and answer the following questions:
(i) Is the above solution optimum? :

(i1) Is the above solution feasible? :

(iii) What is the optimum value of profit (denoted by Z)?

E A company has three plants and four warehouses. The demand zind supply for the
product in units and the corresponding transportation costs are given below:

Ware houses
Plants I |0 |m i/ Supply
A 5 11014 [5 [20
B 6 |8 |7 [2 |50
C 4 (2 |5 (7 |25
Demand [ 50 | 20 [ 30| 10

Find the initial solution only by North-West- Corner rule. Is it degenerate solution?

F  Explain ModiﬁedeistributiQh (MODI) method Witlli;reference to transportation
problem. X :
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